





Answer any 4 questions from 6 to 10 in two or three sentences each. Each carries
2 scores. 4x2=8)

6. Write a brief note about the significance of the 73" Amendment to India’s Constitution.

7. Observe the table showing the percentage-wise disiribution of the age structure of
India’s population since 1971,

Age Structure
Year =
0~ 14 years 15— 59 years 60+ years

1971 42 53 3
1981 40 54 ]
1991 38 56 7
2001 34 59 7
2011 29 © 1 H3 8

Write down two derivations regarding the demographic dividend of India’s population.

8. Point out any two impacts of globalization on Indian television.

-

9. “There is a vital difference between the empire building of pre-capitalist times and that
of the capitalist times.” Substantiate.

10.  Write down any two social impacts of circulation of labour,

Answer any 4 questions from 11 to 15 in four or five sentences each. Each carries
3 scores. 4x3=112)

1. Explain *“Commodification’ with the support of examples.

12, M.N. Srinivas stated that ‘while lower castes sought to be sanskritized, upper castes
sought to be westernized”. Is this opinion true for all categories of people in India ?
Substantiate your answer.
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